154

INIKE | § BE
o5 2 (N1IE; )44 =y
(HyR) | |'R A
—iRIg H
Xz |KRCC)| KE(C) | EEEKE iR =Xz B
48| M5 16.0 12.1 == BE me mR
6A| =Y 23.1 19.0 == BE me me
8A|l mBh 31.3 25.4 xE k) -k mR
10A] Bh 22.2 175 == BE me me
128] Bh 12.6 11.2 == BE me mR
28| Eh 7.0 4.9 xE BE T gl - ¢ B®R
4ERIBEEE _
oH DO BOD SS PNTFEE
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
EEfE| 65~85] 75LLF | 20LF | 25L0F | 1000LAF
EHIE(75%IE) - 10 0.6(0.7) 1 -
48] 78 11 <05 <1 -
6A] 82 9.3 <05 <1 -
8A| 81 8.1 <05 1 -
10A] 79 9.5 1.0 2 -
12A] 716 11 <05 1 -
2A] 85 14 0.7 <1 -
BEER
LN INESS P $h AE/OL| MFE #ikEE |7 Fkeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FEME] 001LLF | JE4RHE | 001LLF | 0.05LLF | 0.01LLF | 0.0005LLF
T5{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
104 - - - - - - -
128 - - - - - - -
24 = = = = = = =
ooandl ..o .= [1,2->700[1,1->saa|YA-1,2->-0a[1,1,1-r)50
PCB 5 Mgk B R T4 I LY DTFLY AT4S
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] EHH [0028LTF ] 0.0028LF | 000480 F [ 002LLF | 0.04LLF 1LLF
iy - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
104 - - - - - - -
128 - - - - - - -
24 = = = = = = =
1,1,2-ry4 (RSO0 [FS54900x|1,3-o/0n = oy te FAAUA
aaIsy | TFLY FLY Faxy F I3 Iy %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
F#{E]0.006LLF[0.03LLF| 001LLF [ 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
iy - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
104 - - - - - - -
128 - - - - - - -
24 = = = = = = =




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~F . TRILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 0.76 0.012 = = = =
4R - 1.1 0.010 - - - -
64 - - - - - - -
sA| - 0.61 0.014 - - - -
108 - 1.0 0.019 - - - -
12H - - - - - - -
28 - 0.32 0.004 - - - -
BiLH HHHERYE | VU : e i s
IT/=| xS coD g > AE EXizEx
(mg/D) | (mg/) (mg/1) (mg/1) (mg/1) () (4 S/cm)
FE@E - - 15 - - - -
4A[ - - 1.5 - - - -
68 - - 1.7 - - - -
sA| - - 1.6 - - - -
10R] - - 1.3 - - - -
128 - - 1.6 - - - -
28 - - 1.2 - - - -




RIS

FE | im =
o 5 J\ IR I E =531
(HyR) | J® A
—i1ER
Xz | SUECC) | KiE(°C) | HEUKE i =i BR
48| HREE 16.2 12.8 == BE m mR
6Al =Y 22.4 19.5 == BE & - % mR
sAl ®\Bhn 32.8 275 xE BE R mE
108| HBh 21.6 18.6 =IE BE me mR
128 BBh 135 12.0 == BE REMA R mR
28| Eh 5.0 5.5 xE BE Tk gl - ¢ B®ER
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20 | 25LLF | 1000LLF
EHIE (75%1E) - 10 0.7(0.8) 2 =
48] 79 10 <05 <1 -
64 8.1 7.7 0.8 3 -
8A| 82 8.3 0.6 2 -
10A] 79 9.4 0.8 <1 -
12A] 76 11 <05 2 -
28 8.5 14 1.1 1 —
BEEE
N INESS & R AEYOL| HMFE ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEl 001LLTF [ FER/H | 001LLF | 005LLF [0.01LLF [ 0.0005LLF ERH
TiHE - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
12A] - - - - - - -
28 - - - - - - -
S II=E we |12-2900(1,1-S90n(22-1,2-040(1,1,1-k)50
PCB ", ~| MEERR | " 1oy | 'zFLy | mrFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EfE] JERH 00200 0.002LLF | 0.004LLF | 0.02LLF | 0.04LLF 1LF
iy - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,1,2-ky4 |RUo0A(Fr54900I(1,3->9Aan = S mpate FARA
aaIsy | TFLY FLY Faxy F I3, Iy %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E[0.006 L F[0.03LLF | 001LLF | 0.002LLF [0.006LLF[ 0.003LLF 0.02LLF
Ty - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
12A] - - - - - - -
28 - - - - - - -




HEBEEREY

2 D LY TR ER So% F5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Ml 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
e EER e 2 2HEfH | y00FRLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.83 0.019 - - - -
4R - 1.1 0.017 - - - -
64 - - - - - - -
8A - 0.71 0.025 - - - -
10H - 1.1 0.021 - - - -
12H - - - - - - -
28 - 0.42 0.013 — - -
BieH HHERYE | VB : e i s
IT/=| ks cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
FHiEl - - 1.7 - - - -
4R - - 1.4 - - - -
64 - - 2.2 - - - -
8A - - 1.6 - - - -
10R] - - 1.4 - - - -
128 - - 1.8 - - - -
28 - - 1.9 - - - -




RIS

EFE | A4 =6l
ih R4
(HyR) | J® A
—iR1ER
Xz |[SUECC) | KiE(°C) | HEUKE iR =i BR
48| HREE 18.0 11.6 == BE me mR
6Al =Y 22.8 18.8 =IE BE ®me mR
sAl ®\Bhn 33.0 249 xE BE R mE
108| Bh 22.5 19.3 =IE BE me mR
128 BBh 14.2 13.1 =IE BE me mR
28] #®&h 6.2 3.8 =KE B & - ik M
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20 | 25LLF | 1000LLF
EHIE(75%1E) - 9.9 1.3(1.7) 2 =
48] 380 10 11 1 -
64 7.9 8.3 1.1 3 —
8A 8.0 7.7 1.0 3 -
10A] 8.1 9.3 1.7 3 -
128 77 11 0.8 2 -
2A| 84 13 1.9 <1 -
BEEE
NS INESS P R AEYOL| HMFE ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#{E] 001LATF | FE#H | 001LLF | 0.05LLF | 0.01LLF | 0.0005LLF ERH
TiH{E - - - - - - -
48 - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
S II=E. we |12-2900(1,1-S500(22Z-1,2-040(1,1,1-k)50
PCB "7, ~| BEERR |\ " 1oy | 'zFLy | mIFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#fE] JERHE 0.02L0LTF ] 0.002LLF | 0.004LLTF | 0.02LLF | 0.04LLF 1LTF
TiH{E - - - - - - -
48 - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,1,2-ky4 |[RUo0A(Fr5500I(1,3->9an = S mpate FARA
aaIsy | TFLY FLY Faxy F I3, Iy %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2 #{E]10.006 L[ 0.03LLF | 0.01LLF [ 0.002LLF 10.006LLF| 0.003LLF 0.02LLF
TiH{E - - - - - - -
48 - - - - - - -
6 A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
g EER e 2 2HEfH | y00FRLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 1.8 0.045 = = = =
4R - 2.8 0.035 - - - -
64 - - - - - - -
sA| - 0.96 0.052 - - - -
108 - 1.7 0.046 - - - -
12H - - - - - - -
28 - 1.6 0.045 - - - -
BiLH HHERYE | VB : e i s
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
F{E - - 3.6 = = - -
48] - - 35 - - - -
6A| - - 338 - - - -
sA| - - 33 - - - -
10A| - - 4.4 - - - -
12A| - - 3.0 - - - -
28 - - 338 - - - -




RIS

5 E%%H% A4 aE
(BER) | #® A
— g8 B
Xz |KURCC)| KE(C) | EEEKE iR =Xz R
48| HREE 18.8 12.9 == BE me mR
6Al =Y 23.5 19.8 == BE & - mR
sA|l ®Bn 33.9 28.2 =B BE R - % |ms
10A8| Bh 23.6 18.8 =IE BE me |
128] Bh 14.1 12.0 =IE BE me |
28| Eh 6.8 4.7 xE BE T gl - ¢ B®R
4FRRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
RElE| 6.5~85 ] 715LLE 2000F [ 25BLF | 1000ELF
EHE(75%1E) - 9.9 0.8(0.8) 2 2000
48] 78 10 <0.5 4 -
64 7.8 8.5 0.7 4 —
8A| 79 7.9 0.8 2 2200
10A] 78 9.2 0.8 1 -
128 76 11 0.7 2 -
2A] 8o 13 1.2 1 1700
RBEIER
NP INESD ED ANEvOL | #E ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLTF | E#RE | 001LLF | 005LLF | 0.01LLF | 0.0005LLF JERH
EH <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A - - - - - - -
8A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
10A]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 - - - - - - -
28] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
S II=E we |12-2900(11-S900(22-1,2-040(1,1,1-k)50
PCB "7, ~| MEERR |\ 1oy | 'zFLy | mrFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s JERE [0.02LLF ] 0.002LLTF | 0.004LLF | 0.02LLF |  0.04LLF 1LF
EH - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
4K - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
6A - - - - - - -
8H - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
10A - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
128 - - - - - - -
28 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
1,1,2-;y4 MY AaAFrS200x|1,3-o49Aan — . o sed FARH
anzsy | TFLY | FLv gy | T7IA | YIDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF [0.006 LA F[ 0.003LLF 0.02LLF
EH <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A - - - - - - -
8Bl <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
10A8]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
128 - - - - - - -
28] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.84 0.1 <0.1
4H] <o0.001 <0.001 0.90 0.1 <0.1
64 - - - - -
8A] <0.001 <0.001 0.65 0.1 <0.1
10H] <0.001 <0.001 1.0 <0.1 <0.1
12H - - - - -
28] <0.001 <0.001 0.81 <0.1 <0.1
EDHIEE
N SR | 28 @ | 2E® | saofus [T
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.99 0.024 - - - -
4R - 1.1 0.021 - - - -
64 - - - - - - -
8A - 0.8 0.033 - - - -
10H - 1.2 0.026 - - - -
12H - - - - - - -
28 - 0.84 0.014 - - - -
BiLH HIHERTE | R : = i S
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EREl - - 1.9 0.02 - - =
4R - - 1.5 0.01 - - -
64 - - 2.6 - - - -
8A - - 1.9 0.02 - - -
10H - - 1.6 <0.01 - - -
12A| - - 1.8 - - - -
28 - - 2.0 0.02 - - -




RIS

LEE | M4 aE)
R4
(#HER) | BR A
— g8 B
XiE_[KUR(CC) | KIR(°C) | HREIKEE iR =Xz R
48| M5 20.1 12.9 EdS BE Hixf-% mR
6Al =Y 24.2 20.5 =RE BE kEf-h mR
8Bl ®Bh 33.7 28.2 =RE BE k- mR
10A8| Bh 24.0 21.1 =IE BE Hixf % mR
128 BBh 15.0 135 =IE BE me mR
28| Eh 8.5 6.7 xE BE T gl - ¢ B®R
4FRRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
RElE| 6.5~85 | 715LLE 2000F [ 25BLF | 1000BLF
EHE(75%1E) - 9.6 0.9(0.9) 3 =
48] 75 9.8 <05 2 -
64 7.7 8.4 0.9 4 —
8A 7.9 8.7 0.9 4 —
108 7.7 8.9 0.9 1 -
128] 76 10 0.7 3 -
28 7.7 12 1.4 1 —
RBEIER
NP INESD 1) ANEvOL | #E HiKEB  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE] 001LLF | FHEH | 001LLF | 005LLF [001LLF [ 0.0005LLF JERH
I 77 - - - - 1 - T -
4K - - - - - - -
6H - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
2R - - - - - - -
S II=E we |12-2900(11-S900(2Z-1,2-40(1,1,1-k)50
PCB 5 mig ik % & T4 Pty OTFLY AT4S
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
El EH/E [002LLF | 0.002L8LF | 0.004LLF | 0028 F [ 0.04LLF 1LLF
[ Foml - T - T - - - - -
4K - - - - - - -
6H - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
2R - - - - - - -
1,1,2-ky4 [RUo0A(Fr54500I(1,3->9an — . —sen FARA
a4y | TFLY | FLv Jaxy | T77L| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HA{EI0.006LLTF10.03LLF| 0.01LLF | 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
[ Fo@El - T - - - - - -
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
2R - - - - - - -




(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~%4 \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 1.3 0.077 = = = =
4R - 1.7 0.055 - - - -
64 - - - - - - -
sA| - 0.93 0.097 - - - -
108 - 1.5 0.075 - - - -
12H - - - - - - -
28 - i1 0.080 - - - -
BiLH WIHERTE (B : e i s
IT/=| xS coD el > AE EXizE=
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
F{E - - 2.4 = = = -
4A[ - - 20 - - - -
6B - - 30 - - - -
sA| - - 2.6 - - - -
10R] - - 21 - - - -
12A| - - 20 - - - -
2H - - 2.5 - - - -




